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[JHMEoISEILHEHSHE (01 ) 564,000
= 434,000
o= 130,000
HUHMHZIHINE A EHSG A 50,000 50,000 0
= 25,000
& 25,000
307 QI2t0| ™ 50,000 50,000 0
= 25,000
= 25,000
10 Al S X2 X 50,000 50,000 0
CJHMMAHCI WL M H2E X 50,000
= 25,000
= 25,000
Hdg2HeY 500,000 500,000 0
403 XX SHHMS K201 A 500,000 500,000 0
01 XS A=2E X 500,000 500,000 0
OetsEdsAa22AHE 500,000
AHEHALEFNGXA 3,200,629 2,131,600 1,069,029
= 2,176,574
J| 231,600
& 792,455
HEFHNEFHAIY 80,000 90,000 A 10,000
307 2Iz2t0| & 20,000 30,000 A 10,000
10 SIS X EX 20,000 30,000 A 10,000
OF=EHLGZRUSE 20,000
308 XAXIGHHM SO0l & 60,000 60,000 0
01 AIKISHHENEXZ 60,000 60,000 0
OJIgeSEHLEFNL XA 60,000
dENLX2ER2H 810,660 727,600 83,060
= 282,330
& 528,330
307 2I2t0| ™ 810,660 727,600 83,060
= 282,330
= 528,330
10 MM ESEXEX 810,660 727,600 83,060
OF=sMEXIERH 810,660
= 282,330
= 528,330
HEMZLaIIHdEHSH 2,073,269 1,224,750 848,519
= 1,894,244
& 179,025
308 XX EHSOIA 2,073,269 1,224,750 848,519
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= 7,804,244
< 179,025

01 AXNSHHBLEES 2,073,269 1,224,750 848,519
O8MZLaIIdEH2H 2,073,269
2 1,894,244
< 179,025

JEHENLdNES 2 AHS 150,000 0 150,000
| 150,000

308 AXIEHSO0IA 150,000 0 150,000
| 150,000

01 XX el 150,000 0 150,000
OzgH 150,000
| 150,000

ZE0IBHAEX 86,700 ,250 A 2,550
| 81,600
< 5,100

308 XXX SO0 86,700 ,250 A 2,550
| 81,600
< 5,100

01 AtXIEHA 86,700 ,250 A 2,550
O&zso0l 86,700
| 81,600
< 5,100

A2 AS &0 = 418,900 ,600 43,300
= 25,000
< 393,900

HAEAASIEHEHAIR 70,100 ,600 52,500

201 LBH2E| 52,000 ,000 50,000

01 At 22l 52,000 ,000 50,000
O3l 52,000
Od®"E 2,000
ozd=804d 50,000

202 oddl 13,000 ,000 3,000

01 = LH o4 1l 13,000 ,000 3,000
OHEHMAHENRASASER 13,000

203 2R =&l 4,500 ,000 A 500

03 Al =& 4,500 ,000 A 500
OHA e 4,500

303 &3 600 600 0

01 X432 600 600 0
Ord= 600

HANERSA 40,000 ,000 0
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HEF2I1E A 25,000 25,000 0
=2 25,000
307 glz2tol & 25,000 25,000 0
=2 25,000
10 AtEI =S X2 X 25,000 25,000 0
Oodg=220184(01) 25,000
= 25,000
HEnsgdaads 37,000 37,000 0
307 glz2+ol & 37,000 37,000 0
10 A3l =X 2 X 37,000 37,000 0
OANEHdEMNF X 7,000
OWd=2MuFX2 30,000
HEdEsXE 91,800 91,800 0
308 AHXIEHHSOIA 91,800 91,800 0
01 HIXNHHNBMNELS 91,800 91,800 0
OddXigesdd=2g 52,200
Odd M egszz)d=2d 39,600
HEMINSZZ OS2I 115,000 124,200 A 9,200
308 MtXIEHSOIH 115,000 124,200 A9,200
01 HXNHHBHELS 115,000 124,200 A9,200
Ordis=zd 46,000
Oolsddazz2d 69,000
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= 545,797
J| 2,194,298
< 995,874
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= 61,610
< 4,621
308 XXM SOIA 66,231 66,231 0
= 61,610
= 4,621
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01 AIKSHMEAMNEX= 66,231 66,231 0
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= 61,610
o= 4,621
4 OH DH IZ| H KF X & A 426,552 320,444 106, 108
= 361,400
& 65,152
308 MXISHHMSOIA 426,552 320,444 106, 108
= 361,400
& 65,152
01 AXHHIMNEXS 426,552 320,444 106, 108
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= 204,400
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& 12,000
XN Z XS EI) s SOHE X2 24,829
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= 2,829
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01 XHHIMNEEXTZ 19,200 14,400 4,800
COotSHAEAMXZ0ISHAIERH 19,200
HE=ZHT N ANESKHA 173,500 74,800 98,700
307 2Iz2t0| A 166,000 50,000 116,000
10 MM SXEX 166,000 50,000 116,000
O&2283H1362 S DY 2 XA 46,000
O& =136 E A3 10,000
ORESEZHNNANNESHESSHMEANLDERNS
o 80,000
OZE0/0HEMSEIIs2ZSE 30,000
308 XHXIEHM SOl A 7,500 4,800 2,700
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01 XHNBMNEXTZ 7,500 4,800 2,700
Osnddesd 7,500
HEZLEAAANESMASS A 82,992 93,576 N 10,584
307 QI2t01 & 58,800 58,800 0
10 Al S X2 X 58,800 58,800 0
OJHEdZH2AAANESANANSTE 58,800
308 XX SHAHSOIH 24,192 34,776 A 10,584
01 AXHNBMNEXZ 24,192 34,776 A 10,584
O =2 AHANESAMAHSE 24,192
HSEAYUTULOHRKR(E) 1,087,175 977,259 109,916
9] 944,410
= 142,765
307 QI2t0| & 1,087,175 977,259 109,916
9] 944,410
= 142,765
10 Al S X2 X 1,087,175 977,259 109,916
OFASXNIHAEHSEX & 269,000
J| 188,300
o= 80,700
Coldet) | ot sSHdH2Y9 X 606,093
Dl 606,093
OotsHEot@ X dAie&H 7,200
Dl 3,600
o= 3,600
Ootsd3 AT SEAHSIEAMY 194,882
9] 136,417
== 58,465
OSEXNALSANEE 2NN S 10,000
J| 10,000
AZ2B X Lo KX (AlZ) 936, 146 863, 388 72,758
Dl 802,268
& 133,878
308 AXISHAMSO0IA 936, 146 863, 388 72,758
Jl 802,268
& 133,878
01 AIXHMBANEXZ 936, 146 863, 388 72,758
O0rsH4dotdXgdiied 107,640
Dl 82,800
= 24,840
Od=Z8MeA2HIJ 309,713
Dl 269,316
& 40,397
OO ASANSH XA 34,636
Dl 26,643
= 7,993
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J| 53,692
< 8,053
O&8=gIiiXss=E2 )82 63,651
J| 56,400
< 7,251
O&d=dToi e =X 37,327
J| 33,074
< 4,253
O =T o Xt2tE B X & 6,092
J| 5,398
< 694
Od=dIoi =SSN 5,629
Jl| 5,629
Otsd=2X 36,100 36,100 0
307 21201 A 36,100 36,100 0
10 A2l =S X2 X 36,100 36,100 0
O0tsdZ8 X2 02X 30,000
O2XNNEHA ISR 6,100
NHEEZ2Y - S=EYIIHISLTHLY S XA 92,653 100,716 A 8,063
J| 82,098
< 10,555
308 XXIEHH SOl A 92,653 100,716 A 8,063
J| 82,098
< 10,555
01 AXNHHNBANEES 92,653 100,716 A 8,063
O EZ2SEIi A NIBNSEZ2 OS2 57,830
Il 51,242
= 6,588
OdZENMANENISEZZ2 ISR 34,823
J| 30,856
< 3,967
IR ZALXNLUNRX2(Z) 371,324 351,088 20,236
J| 170,662
< 200,662
307 21201 A 363,324 343,088 20,236
J| 166,662
< 196,662
10 A3l S X2 = 363,324 343,088 20,236
Jod2 28313662 S A& 360,444
Jl| 165,222
< 195,222
O ZL2AAILSAILSE 2,880
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9] T.440
& 1,440
402 SI2FXHE0| M 8,000 8,000 0
9] 4,000
= 4,000
01 QI2t X2 X 8,000 8,000 0
(1366MEI I SRS H N A AL RN ELS) 5=
A 5,000
J| 2,500
= 2,500
[J1866MIEH I S2UIHHI N PRUS I sEL 3,000
J| 1,500
= 1,500
Y Z2Ae X LI o AR (AlZ) 218,973 211,484 7,489
J| 194,860
& 24 113
308 MXISHHMSOIA 218,973 206,284 12,689
J| 194,860
= 24,113
01 IXHHIMNEXZ 218,973 206,284 12,689
OB ZHIHANESAERIXE 146,963
J| 130,220
& 16,743
OJIEZENHANESAIEUATSH =2 XA A
Hl Xl & 11,000
J| 11,000
O ZL2AHAANLASAIN L= 10,224
J| 8,640
= 1,584
I8 Z=dNAXNESIsEZZ )HE2AEXNS 33,857
J| 30,000
& 3,857
o2 =T A 2 X 16,929
J| 15,000
& 1,929
OlS - oldBSXAANSI B S5 55,623 87,301 ~31,678
2 42,787
= 12,836
308 XHXIGHH SO0l & 55,623 87,301 N31,678
= 42,787
= 12,836
01 AIKISHHEMNEXZ 55,623 87,301 N31,678
JOotsot™ X & M & 55,623
= 42,787
= 12,836
OXNSMNSGASAXA 16,500 16,500 0
308 AMXISHMSOIA 16,500 16,500 0
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01 AIKSHMEAMNEX= 16,500 16,500 0
OolXNeadAsA2HXS 16,500
L ATOoHEHLIMECHE XA 3,000 6,000 A 3,000
308 XHXIGHH SO0l & 3,000 6,000 A 3,000
01 IXHHIMNEXS 3,000 6,000 A 3,000
OJYZIU LI MEHE 22X & 3,000
HOXHEOAAEES IR 120,000 40,000 80,000
= 80,000
o=} 40,000
307 212t0| & 120,000 40,000 80,000
= 80,000
= 40,000
10 MM SEXIEX 120,000 40,000 80,000
Ot ML XEOASET W= 80,000
= 40,000
& 40,000
OIS EAEHHA DR 40,000
= 40,000
ALEINEESRSXHY 11,880,412 10,201,100 1,679,312
= 6,996,128
J| 2,435,237
= 249,569
= 2,199,478
IIEA 2SR ALY 235,950 235,950 0
= 181,500
& 54,450
308 AMXISHHSOIA 235,950 235,950 0
= 181,500
= 54,450
01 IXHHIMNEXZ 235,950 235,950 0
OJIsS 235 X3 235,950
= 181,500
& 54,450
OIS LT AL 6,955,548 5,497,014 1,458,534
= 6,163,144
== 792,404
308 XX SHHSOIH 6,955,548 5,497,014 1,458,534
= 6,163,144
o=t 792,404
01 AIXSHMENEXZ 6,955,548 5,497,014 1,458,534
ool X 6,923,948
= 6,135,144
= 788,804
O0Z2s=F0ILsHE2dY 31,600
= 28,000
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| = 3,600
ALINESLEXNA 65,000 35,000 30,000
307 2Iz2t0| & 45,000 15,000 30,000
04 QIZISHALE X2 30,000 0 30,000
JHBAMZECII=HECIEHE XA 30,000
10 Al S X EX 15,000 15,000 0
OA2ZotF oot 0l 249 15,000
308 XX SHHSOIH 20,000 20,000 0
01 AIXSHMENEX= 20,000 20,000 0
OJIE YIS &AL 20,000
ALINEXNSFHEHS S 698,978 734,370 N 35,392
2 537,675
& 161,303
308 XHXIEHSO|A 698,978 734,370 N 35,392
=2 537,675
& 161,303
01 AIKSHHEMNEX= 698,978 734,370 N 35,392
OAUINNAEXNKFHHRA 698,978
= 537,675
o= 161,303
SHEDIIEXIA (KA 889,023 893,385 N4 362
307 QI2t0| ™ 30,000 40,000 A 10,000
10 Al SR EX 30,000 40,000 A 10,000
Ot IIsXgsnsd 30,000
308 XX SHHSOIH 859,023 853,385 5,638
01 AIXSHMENEX=Z 859,023 853,385 5,638
OS2I NE XIS 72,000
Ot 28 sHSH| 348,000
OstE2IJIEANHE U s 2 240,000
OstE2IIEXEHSHE E | 71,400
OS2 2IIENEH D EH AR 127,623
SFERIIEXK(EX) 2,538,892 2,417,563 121,329
J| 2,361,760
= 177,132
308 XAHXIEH SO0l A 2,538,892 2,417,563 121,329
Jl 2,361,760
= 177,132
01 AIXSHMENEX= 2,538,892 2,417,563 121,329
OstEBIIEX|(BX) 2,538,892
J| 2,361,760
= 177,132
SFEEIIEEXAEX (RHA) 264,569 265,874 A 1,305
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S.o2N BB (BH) - SN - B2 O Ak o8 ﬁlf& HD=2
= 249,569
== 15,000
307 QI2t0| ™ 15,000 15,000 0
10 Al S X2 X 15,000 15,000 0
OsEELINEEXNANELATNLSAMAK IS 15,000
308 XX SHHSOIA 249,569 250,874 A 1,305
= 249,569
01 AIXHMBAEXZ 249,569 250,874 A 1,305
OS2 INEEXNAIESAR=S(01S) 15,552
= 15,552
Ot D2IIS2EXNAE L AMUGHH =2HAH] (0] ) 7,497
= 7,497
OS2 INESEXNAIELATE AL 2 Y (0]) 5,760
= 5,760
OStEDIIESEXNAESE X (01Y) 220,760
= 220,760
SEQIEEXNALEINHF(EX) 147,952 43,140 104,812
= 113,809
& 34,143
308 AXISHAMSOIA 33,280 32,630 650
= 25,600
== 7,680
01 AIXHMBANEEXZ 33,280 32,630 650
Ot 2NE=SIAELANMEXNS XA 33,280
= 25,600
o= 7,680
403 XX SHHM S X201 A 114,672 10,510 104, 162
= 88,209
o= 26,463
01 HXHXMAHEE = 114,672 10,510 104, 162
OStELIIESEXNANEIIsES 114,672
= 88,209
= 26,463
AESEDXE X 84,500 78,804 5,696
Dl 73,477
= 11,023
308 AXISHMSOIHA 84,500 78,804 5,696
Dl 73,477
= 11,023
01 XHHNBIMNEXTS 84,500 78,804 5,696
OS2 XE X & 52,650
Jl 48,977
o= 3,673
O0E22 XA 31,850
Jl 24,500
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| < 7,350
AL LA 1,597,369 1,436,054 161,315
= 880,364
= 152,234
< 564,771
HAR20sHE=SH 552,194 521,543 30,651
=2 152,234
< 399,960
307 gl2tol & 239,714 211,514 28,200
= 152,234
< 87,480
10 A2l =S X2 X 239,714 211,514 28,200
OJIEAEXNHAHSE(012) 239,714
& 152,234
< 87,480
308 XXM SOl A 312,480 310,029 2,451
01 AXHHILEES 312,480 310,029 2,451
OJIE e 2= XA (01) 198,000
Odd20tsHsds 3 48,000
OAaEAEHITE XA (012) 10,080
OAaEAHIE S =] 9,000
OAEAEIMEAIIERAE OIS I s =EH| 9,000
OAEAHNELINEASE 0t s W =HI 20,700
OA8AHNELINEAE OIS 23 ELHI X 17,700
UA=XRA 35,800 7,000 28,800
307 glz2+ol & 7,000 7,000 0
10 A3l S X2 = 7,000 7,000 0
DAF2IEHAXE 7,000
308 XtXIEHHSOIA 28,800 0 28,800
01 HXSHBARES 28,800 0 28,800
OYUYOtSHHSEH2 X2 12,600
DYgos=s 23N 16,200
LA0tSIHEXN A 930,738 813,123 117,615
= 823,466
< 107,272
308 XXM SOIA 930,738 813,123 117,615
= 823,466
= 107,272
01 XML EES 930,738 813,123 117,615
DggdotsHsXE 930,738
= 823,466
& 107,272
IHEASKNE - 29I 78,637 94,388 A 15,751
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= 56,898
= 21,739
307 glz2tol & 68,683 85,540 A 16,857
= 48,078
= 20,605
06 283 68,683 85,540 AN 16,857
OJGERAE sl EE S XA 68,683
= 48,078
< 20,605
308 XX EHHSOIA 9,954 8,848 1,106
= 8,820
< 1,134
01 AXHHILEES 9,954 8,848 1,106
g - Jt3/EotsdexIz X 9,954
= 8,820
= 1,134
ES0tsdAdSA 398,359,766 309,822,943 88,536,823
= 260,687,745
< 137,672,021
S AHEIAX R 396,952,335 307,627,614 89,324,721
= 259,697,414
< 137,254,921
ESZHAZS KA 5,000 5,000 0
201 Let249] 5,000 5,000 0
01 At 22/l 5,000 5,000 0
O2dsg 5,000
OESIHAAS 2L U] 5,000
EERISFEANY 500 500 0
303 &3 500 500 0
01 L4323 500 500 0
ODESRISRIANY 500
Hel ol WAt XA 106,790 106,790 0
= 53,395
< 53,395
307 gl2tol & 106,790 106,790 0
= 53,395
< 53,395
10 A2l S X2 X 106,790 106,790 0
OO0l 8IS 106,790
= 53,395
< 53,395
ESZBHH2Y 312,000 312,000 0
= 156,000
= 156,000
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307 glz2tol & 312,000 312,000 0
= 156,000
< 156,000

10 AtEI =S X2 X 312,000 312,000 0
ESJZBHEH2Y 312,000
= 156,000
< 156,000

ESSsSAMHIA 35,892,995 33,898,881 1,994,114
= 27,518,280
< 8,374,715

307 glz2+ol & 340,660 303,600 37,060
= 170,330
< 170,330

10 A3l S X2 X 340,660 303,600 37,060
O & Ol & CHAl W AFXT & 340,660
= 170,330
< 170,330

308 MtXIEHMSOIH 35,552,335 33,595,281 1,957,054
= 27,347,950
< 8,204,385

01 HXNHHNBHELS 35,552,335 33,595,281 1,957,054
OEsEssAHA 35,552,335
= 27,347,950
= 8,204,385

Ol oI XI& 8,926,651 7,410,815 1,515,836
= 6,866,655
< 2,059,996

308 XX EHHSOIA 8,926,651 7,410,815 1,515,836
= 6,866,655
< 2,059,996

01 IXNHHBNEES 8,926,651 7,410,815 1,515,836
OoeoldX& 8,926,651
= 6,866,655
< 2,059,996

dRoEssXd 202,368,000 164,367,837 38,000, 163
= 168,640,000
< 33,728,000

308 XX EHH SOl A 202,368,000 164,367,837 38,000, 163
= 168,640,000
< 33,728,000

01 X HHILEES 202,368,000 164,367,837 38,000, 163
Ogsotesz N 202,368,000
= 168,640,000
= 33,728,000

HEYSLYR 64,670,400 48,501,076 16,169,324
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A SA - SAEA) - MRAY - BES 0l &t o il HImEET

= 53,592,000
< 10,778,400

308 XX EHHSOIA 64,670,400 48,501,076 16,169,324
2 53,892,000
< 10,778,400

01 HIXNHHBNEES 64,670,400 48,501,076 16,169,324
Otzggss=2la 64,670,400
= 53,892,000
< 10,778,400

EstHia4s 125,000 125,000 0

307 21201 A 85,000 85,000 0

10 A3l S X2 = 85,000 85,000 0
Oogolddgs =29 25,000
Odeo 2R/ asE 25,000
O« BAH XA 15,000
OO - HEMNSEEZZ S 10,000
Oogoldadstzz 0 10,000

308 XtXIEHHSOIA 40,000 40,000 0

01 AXHHILEEXS 40,000 40,000 0
OEsoisl 40,000

BEDNAXASA 3,040,000 2,667,600 372,400

308 AHXIEHSOIA 3,040,000 2,667,600 372,400

01 HXNHHNBHELS 3,040,000 2,667,600 372,400
O 2,920,000
OXFOOtESNHESEE =X 120,000

EsFBHdHLS 170,000 180,000 A 10,000

307 21201 A 170,000 180,000 A 10,000

10 AFRISXIE X 170,000 180,000 A 10,000
O2sdEdHEZOSER2S 30,000
OFMOIESEZZ2 )2 15,000
Oh=SstEsTz 0829 35,000
O0eold2UHEH2Y 20,000
pEielsrduz )2y 70,000

FHaAE=x245 77,992,590 46,932,710 31,059,880

201 2Bt Y| 30,000 30,000 0

01 At 22l 30,000 30,000 0
Oggt=2tl 30,000
OEsZdMIIEsEH| 30,000

308 XtXIEHH SOl A 77,962,590 46,902,710 31,059,880

01 AXHHILEES 77,962,590 46,902,710 31,059,880




a3 2 £ o
M BR0lSAHY ST
el ESAHEAXNR (=& J)
R.RN-ZE-E(HH) - HRAY - BES Ol &k o il Hl D = 2t
O2=s0ts2tald] 2,500,000
O &0l & Xt &= X gl 87,000
O2SK0tsE M0 & &Y 5,000
OG22 el o829 144,000
OFMOtsHE O EgAE 19,200
EGE=ROUESEC D] Falla] 200,000
O32XNAHS 0l E WMWY 60,000
COZONOtEE 20l ™ IIALeI 24 H] 50,000
OO0l &etd = H &l dl 54,750
Ol s 74,429,760
OgnsEsxz 412,880
2380e0ld 3,252,600 3,074,500 178,100
= 2,502,000
< 750,600
308 XXM S0 3,252,600 3,074,500 178,100
= 2,502,000
< 750,600
01 AXSHBLEES 3,252,600 3,074,500 178,100
OZ38Heo&EX&A 3,252,600
= 2,502,000
= 750,600
2EILHEH=2Y 89,809 44,905 44,904
= 69,084
< 20,725
308 XXM S0 A 89,809 44,905 44,904
= 69,084
< 20,725
01 AXNSHHBLEEES 89,809 44,905 44,904
OREL2LHEH2IEXE 89,809
= 69,084
< 20,725
Hel ol &Z o 1,407,431 2,195,329 AT787,898
= 990,331
< 417,100
HelolddIse2d 1,287,431 1,155,329 132,102
= 990,331
= 297,100
403 XAtXISHM S K201 ™ 1,287,431 1,155,329 132,102
= 990,331
< 297,100
01 X SHMA2E X 1,287,431 1,155,329 132,102
OogolEIIsE2d 1,287,431
= 990,331
< 297,100




AERNCEL L S RECEL-EE
HY: 9R0ISEUEN
el OfRI0IT B AN M CER-ED
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
282x)|s2d3t 120,000 1,040,000 A 920,000
308 XAHXIEHSOIA 60,000 80,000 A 20,000
01 AIXSHMENEX= 60,000 80,000 A 20,000
DA A2A2Y 60,000
403 XX SHHS K20 & 60,000 960,000 A 900,000
01 XIS A=Z2E X 60,000 960,000 A 900,000
&2 424X 60,000
AHEOISESELES 31,951,075 32,219,853 A268,778
= 15,761,559
= 549,140
o= 15,640,376
sH - =SXSN 31,951,075 32,219,853 A268,778
= 15,761,559
= 549,140
& 15,640,376
ER0SE=JE 43NS 258,280 268,504 N 10,224
= 129,140
= 129,140
307 QI2t0| & 258,280 258,280 0
= 129,140
= 129,140
10 Al S X EX 258,280 258,280 0
OJZFHEIZA2E XA (01Y) 258,280
= 129,140
& 129,140
OlsdASRNLAHANSH 75,000 75,000 0
307 212t0| & 35,000 35,000 0]
10 MM S X EX 35,000 35,000 0
OSSOl A AU ALY T 25,000
JotsS2EANEKATS 10,000
308 XX SHHSOIA 40,000 40,000 0
01 IXHHIMNEEXTZ 40,000 40,000 0
o2l o] &l At 40,000
OSSO YA 594,480 586,720 7,760
= 185,000
== 409,480
307 2Iz2t0| & 384,000 364,000 20,000
= 185,000
= 199,000
10 SIS X EX 384,000 364,000 20,000
(2SS ESTE2I|229 X (01Y) 350,000
= 185,000
= 165,000




NERNPEE-E R = A
Hu: AMBOERLUES
el ot BB CEEEED
AR 2N EB .S (H) - MBAY - B ofl &t o SSa HDE2
OH=OSESTEIIASAMARAE S 24,000
OotsSsttHu Y =2 A 10,000
308 AXISHXSOoIH 210,480 216,720 N6,240
ANXSHHMENEXZ 210,480 216,720 N6,240
OXNYGESESHE2I 22X (01) 198,000
OXNYGOSESESII2SAIANAE =S 12,480
ANEOtsSHE=RY 1,312,077 1,359, 156 N4T7,079
= 85,000
o= 1,227,077
307 212t0| & 135,000 135,000 0
10 Al S X2 X 135,000 135,000 0
OAMEEAOSAZT2LLFSLLALS 20,000
OX=aANEsEc2UI A 15,000
OANEOtsSsE0 =M 20,000
CJOtS S XA ESAXA L 20,000
OOS=EXANESMNYNR2UNE 10,000
OotsEsXaANESE X 20,000
OCIsMEXNJHMEH2IE XA 30,000
308 XX S M SO0l & 1,177,077 1,224,156 N4T7,079
= 85,000
o= 1,092,077
01 AXHNBMNEXZ 1,177,077 1,224,156 N4T,079
OOISEXNAME2I X (01) 800,457
= 85,000
& 715,457
OAIE0tSI)Is =l 7,920
OA&EOtSotAH =g 18,900
OAI&0ts =4I 11,700
OA&E0tsS 1 & X BI 9,000
OA&EOtsS =50 &l 9,360
OAMEts2H 23 &I 5,400
OA&Oots A 422l 50,760
OAMESEHEA LD EHI 13,500
OotsS=SXAIESAN=E 104,160
OEAOSHEE=Z(01Y) 135,000
O 2HSUSANESS2 N 10,920
2ASZ AR 10,862,000 13,019,414 ~2,157,414
= 150,000
= 10,712,000
308 AXISHXMSOIH 10,862,000 13,019,414 N2,157,414
= 150,000
= 10,712,000
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01 AXSHHBLEES 10,862,000 13,019,414 A2,157,414
OgstEsA(012) 1,512,000
OeII=EESFTLS4Y 9,200,000
OXNGotsdHSS AR (01Y) 150,000
& 150,000

RESOts1SE2Z XA 282,077 275,252 6,825
= 194,536
< 87,541

308 XXIEtH S0l A 282,077 275,252 6,825
= 194,536
< 87,541

01 IXNHHBANEES 282,077 275,252 6,825
eEsosl1s5s2g N 282,077
2 194,536
< 87,541

Ot L& XIJAH XK 744,451 721,571 22,880
= 659,640
= 84,811

308 XtXIEHHSOIA 744,451 721,571 22,880
= 659,640
= 84,811

01 HXNHHBHELS 744,451 721,571 22,880
JotseEXARKA 744,451
=2 659,640
< 84,811

Ots = Kl W ATHA X & 1,712,256 1,932,228 A219,972
= 1,317,120
< 395,136

308 XXM S0 A 1,712,256 1,932,228 AN219,972
= 1,317,120
< 395,136

01 AXNSHHBLAEES 1,712,256 1,932,228 A219,972
OotssXWAIAXE 1,712,256
= 1,317,120
< 395,136

CRABEANY 5,700,000 4,200,000 1,500,000
= 5,700,000

308 XXM S0l A 5,700,000 4,200,000 1,500,000
= 5,700,000

01 IXNSHHBANEES 5,700,000 4,200,000 1,500,000
OJEYHAEEAY 5,700,000
= 5,700,000

Ots=EXNANEIIsEH 1,391,000 1,391,000 0
=2 1,070,000
< 321,000




NETNVPE-EE SN oeE
N AFBOIESRLULS
o9l OIS - ZXNBT (B9 ®R)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
403 UHXSHHSA=0l& 1,391,000 1,391,000 0
= 1,070,000
< 321,000
01 X SHMA2E X 1,391,000 1,391,000 0
Oots=XNAIEI)IsE2 1,391,000
= 1,070,000
< 321,000
NSEOotsHdEH2S XA (XHA) 77,920 99,000 A 21,080
308 XXM SO A 77,920 99,000 A 21,080
01 IXNSHHBMNEES 77,920 99,000 A 21,080
OXNSEOotsHBESANNE =S 67,920
OXSotsdHsS s Z2 ISR 10,000
NEotsdEH2AE R 8,726,698 8,067,436 659,262
= 6,712,845
< 2,013,853
308 XX EHSOIA 8,726,698 8,067,436 659,262
= 6,712,845
< 2,013,853
01 AXNSHHBLAEES 8,726,698 8,067,436 659,262
OXYG0otsdEH2E X & 8,726,698
= 6,712,845
< 2,013,853
NEOtSEHHEIIH2G XA 39,836 46,000 A6, 164
= 19,918
< 19,918
307 21201 A 39,836 46,000 A6, 164
= 19,918
< 19,918
10 A3l S X2 = 39,836 46,000 A6, 164
OXNSOotsHHEINSG2E XA 39,836
= 19,918
< 19,918
NGotsdBHAN SN H2I XA 175,000 178,572 A3,572
= 87,500
< 87,500
307 gl2tol & 175,000 178,572 A3,572
= 87,500
< 87,500
10 A2l =S X2 X 175,000 178,572 A3,572
OXNGotsdEHANEXNAH2G X2 175,000
= 87,500
< 87,500
M= AHOH 2 ALY 9,784,633 9,569,114 215,519
= 1,896,144
J| 2,999,549
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22N B SAEA) - AL il HI RS2
307 glztol & 250,000 373,000 123,000
02 2B ExS 250,000 363,000 A 113,000
ONEMAS=SE2LUSNE 60,000
Lotolg I E2S M 2 H 2L/ = 100,000
OMstI=slstnd 3L 30,000
Od=HoIIEME2 A3 AL 50,000
Ogitaadg g2tz d A 10,000
308 XXM SO0l & 109,000 168,000 259,000
01 XM BaE2ES 109,000 168,000 259,000
ONEASSEHAOIBHA A 69,000
Osadds2d9 32 40,000
M2 AU 201X &H A ,067,299 2,142,510 AT5,211
= ,866,144
< 201,155
307 @lztol & 20,550 26,400 25,850
= 20,550
02 HHFEEXS 20,550 26,400 25,850
O Ut R0 DS 20,550
= 20,550
308 XXM SO0l & ,046,749 2,116,110 69,361
= ,845,594
& 201,155
01 UAXESHHBAEXS ,046,749 2,116,110 269,361
O U0t R0 XS A ,046,749
= 1,845,594
S 201,155
LH0SAL NI AL ,535,974 2,293,464 242,510
Jl 1,950,749
S 585,225
308 Xt M S 01 A ,535,974 2,293,464 242,510
Jl 1,950,749
£ 585,225
01 HAHHMZBEES ,535,974 2,293,464 242,510
OHSREX2AY ,472,072
Jl 1,901,594
= 570,478
D200+ XS 13,202
Jl 10,155
< 3,047
OFAEMZZHIXR 50,700
Il 39,000
= 11,700
SFO0AtE O 2 X 21 2tel ,211,600 1,019,317 192,283
Il 932,000
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AT SA B O (3H) - MEAY - BES %Eﬁ HR=2
= 279,600
308 XHXIEHMSOIA ,211,600 1,019,317 192,283
932,000
= 279,600
01 AIKSHHENMNEXZ ,211,600 1,019,317 192,283
Ool=0td 8 & H 0l 402 2 HI 705,900
543,000
& 162,900
O S UAIOI A E AL & 022 392,600
302,000
& 90,600
OUHEEINNSG2A AKX 113,100
87,000
o= 26,100
AROtH L HEAS 125,560 125,123 437
116,800
8,760
308 MXISHHSOIA 125,560 125,123 437
J| 116,800
= 8,760
01 IXHHIMNEXS 125,560 125,123 437
OY9R0tHL AR A 125,560
J| 116,800
= 8,760
OlOIEDIE2MNaE2s22E2d 60,000 70,000 A 10,000
= 30,000
o= 30,000
307 2Iz2t0| & 60,000 70,000 A 10,000
= 30,000
= 30,000
02 QI2tAAE X2 60,000 70,000 A 10,000
COOIoIED I E2M 222N 60,000
= 30,000
& 30,000
HMSHEAH (™) 67,840 61,840 6,000
JlE&dl 67,840 61,840 6,000
Jl2 &4l 67,840 61,840 6,000
201 Bt 26,840 23,640 3,200
01 AP 22| H| 26,000 22,800 3,200
Ogst24| 13,400
OMESREYLALARHASERAUS 13,400
==l 12,600
OWAIIFEE RS AH| 12,600
02 B3| 840 840 0
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